

On multiplicative functions which are additive on almost primes

By POO-SUNG PARK (Changwon)

Abstract. In 1992, C. Spiro showed that if a multiplicative function f satisfies $f(p+q) = f(p) + f(q)$ for all primes p and q , and $f(p_0)$ does not vanish at some prime p_0 , then f is the identity function. In this article, we extend Spiro's result to products of exactly k prime factors with multiplicity, which are called k -almost primes. That is, if a multiplicative function f satisfies $f(P+Q) = f(P) + f(Q)$ for all k -almost primes P and Q , and $f(n_0)$ does not vanish at some k -almost prime n_0 , then f is the identity function.

1. Introduction

In 1992, CLAUDIA SPIRO [7] showed that if a multiplicative function $f : \mathbb{N} \rightarrow \mathbb{C}$ satisfies

$$f(p+q) = f(p) + f(q) \quad \text{for all primes } p, q,$$

then $f(n) = n$ for all n , provided $f(p_0)$ does not vanish for some prime p_0 .

A large number of mathematicians have generalized her result and conceived various problems. For example, CHUNG and PHONG [1] showed that if a multiplicative function f satisfies $f(a+b) = f(a) + f(b)$ for all $a, b \in \{n(n+1)/2 : n = 1, 2, \dots\}$ or for all $a, b \in \{n(n+1)(n+2)/6 : n = 1, 2, \dots\}$, then $f(n) = n$ for all n . DUBICKAS and ŠARKA [2] showed that if a multiplicative function f

Mathematics Subject Classification: 11P32, 11A25.

Key words and phrases: identity function, multiplicative function, almost prime, Goldbach conjecture, Bertrand's postulate.

This research was supported by the Basic Science Research Program through the National Research Foundation of Korea (NRF), funded by the Ministry of Science and ICT (NRF-2017R1A2B1010761).

satisfies $f(p_1 + p_2 + \cdots + p_k) = f(p_1) + f(p_2) + \cdots + f(p_k)$, for all primes p_i with $f(p_0) \neq 0$ for some prime p_0 , then $f(n) = n$ for all n .

In this article, we generalize Spiro's theorem on primes to one on k -almost primes. A natural number is called k -almost prime if it is the product of k primes. For example, $4 = 2 \cdot 2$, $6 = 2 \cdot 3$, $9 = 3 \cdot 3$, $10 = 2 \cdot 5$, $15 = 3 \cdot 5$, $\dots$ are 2-almost primes, and they are also called *semiprimes*.

We show that the term "prime" in Spiro's theorem can be replaced with " k -almost prime." We can write the main result as follows:

Theorem 1.1. *Let $k \geq 1$, and let f be a multiplicative function such that there exists a k -almost prime at which f does not vanish. If*

$$f(P + Q) = f(P) + f(Q)$$

for all k -almost primes P and Q , then $f(n) = n$ for all n .

Since 1-almost primes are the same as primes, the main result of the present article contains Spiro's theorem.

2. Proof of the main theorem

In this section, assume that f is a multiplicative function, which satisfies the condition in Theorem 1.1. We follow the proof of SPIRO [7]. First, we will calculate some values of $f(n)$.

Lemma 2.1. $f(2^r) = 2^r$, for $1 \leq r \leq k + 1$.

PROOF. We will show that $f(n_0) \neq 0$ for some odd k -almost prime n_0 . Suppose that f vanishes at all odd positive integers. Then we can find an even integer $n_0 = 2^r p_1 p_2 \cdots p_{k-r}$ at which f does not vanish with the smallest $r \geq 1$ and p_i primes. Consider $n_1 = 2^{r-1} 3 p_1 p_2 \cdots p_{k-r}$. By the minimality of r , we have that $f(n_1) = 0$. Then, $n_0 + n_1 = 2^{r-1} 5 p_1 p_2 \cdots p_{k-r}$ and $f(n_0 + n_1) = f(n_0) + f(n_1) \neq 0$, which contradicts the minimality of r . So f does not vanish at some odd k -almost prime n_0 .

Let $n_0 = p_1^{r_1} p_2^{r_2} \cdots p_\ell^{r_\ell}$ with distinct odd primes p_i , $r_i \geq 1$, and $\sum r_i = k$. Then $f(p_i^{r_i}) \neq 0$, from the multiplicativity of f . Note that

$$f(2^{k-j} p_i^j + n_0) = f\left(2^{k-j} + \frac{n_0}{p_i^j}\right) f(p_i^j) = f(2^{k-j}) f(p_i^j) + f(n_0),$$

for $1 \leq j \leq r_i - 1$, and thus $f(p_i^j) \neq 0$. Then, since

$$\begin{aligned} f(2^{s_0} p_1^{s_1} p_2^{s_2} \cdots p_\ell^{s_\ell} + 2^{s_0} p_1^{s_1} p_2^{s_2} \cdots p_\ell^{s_\ell}) &= f(2^{s_0+1}) f(p_1^{s_1} p_2^{s_2} \cdots p_\ell^{s_\ell}) \\ &= 2f(2^{s_0}) f(p_1^{s_1} p_2^{s_2} \cdots p_\ell^{s_\ell}), \end{aligned}$$

with $0 \leq s_i \leq r_i$ for $1 \leq i \leq \ell$, and $\sum_{i=1}^{\ell} s_i = k$, we obtain a recurrence relation $f(2^{s+1}) = 2f(2^s)$ with $0 \leq s \leq k$. Thus,

$$f(2) = 2, \quad f(2^2) = 2^2, \quad \dots, \quad f(2^k) = 2^k, \quad f(2^{k+1}) = 2^{k+1}. \quad \square$$

Lemma 2.2. $f(n) = n$, for $1 \leq n \leq 17$.

PROOF. Since f is multiplicative, we may consider only the case when n is a prime power. Note that

$$f(2^{k-1} \cdot 12) = f(2^{k+1}) f(3) = f(2^{k-1} \cdot 5) + f(2^{k-1} \cdot 7).$$

Since $5 = 2 + 3$ and $7 = 2 + 5$, we obtain $f(2^{k+1}) f(3) = 3f(2^k) + 2f(2^{k-1}) f(3)$. By Lemma 2.1, $f(3) = 3$. Also, $f(5) = 5$ and $f(7) = 7$ follow immediately.

Next, from

$$f(2^k + 2^{k-1} \cdot 7) = f(2^{k-1}) f(9) = f(2^k) + f(2^{k-1}) f(7),$$

we find that $f(9) = 9$. But, note that 11 is neither a sum of two primes nor a sum of two semiprimes. Indeed, there are several numbers which are not sums of two semiprimes: 1, 2, 3, 4, 5, 6, 7, 9, 11, 17, 22, 33 (see [5]). It is conjectured that all integers greater than 33 are expressible as sums of two semiprimes. We calculate $f(11)$ and $f(17)$ by using $f(15)$ and $f(20)$.

First, $f(15) = f(3) f(5) = 15$. Then, $f(2^{k-1} \cdot 15) = f(2^k) + f(2^{k-1} \cdot 13)$ yields $f(13) = 13$. Also, $f(11) = 11$ follows from $f(2^{k-1} \cdot 13) = f(2^k) + f(2^{k-1} \cdot 11)$. Similarly, $f(17) = 17$ easily follows from $f(2^{k+1} \cdot 5) = f(2^{k-1} \cdot 3) + f(2^{k-1} \cdot 17)$. $\square$

Lemma 2.3. $f(3^r) = 3^r$ and $f(5^r) = 5^r$, for $1 \leq r \leq k$.

PROOF. Note that

$$\begin{aligned} f(3^{k-j} 2^{j-1} 8) &= f(3^{k-j}) f(2^{j+2}) = f(3^{k-j}) 2^{j+2} \\ &= f(3^{k-j} 2^{j-1} 3) + f(3^{k-j} 2^{j-1} 5) = f(3^{k-j+1}) 2^{j-1} + f(3^{k-j}) 2^{j-1} 5, \end{aligned}$$

for $1 \leq j \leq k-1$ by the previous lemmas. Thus, $f(3^{k-j+1}) = 3f(3^{k-j})$, and we can conclude that $f(3^r) = 3^r$ for $1 \leq r \leq k$.

We can obtain $f(5^r) = 5^r$ from the similar equality for $f(5^{k-j} 2^{j-1} 8)$. $\square$

Now, we show that $f(n) = n$ for all $n \leq N$, under the condition that every even number less than $2N$ can be expressed as a sum of two primes. The condition is the numerical verification of the Goldbach Conjecture, and the current record is $2N = 4 \cdot 10^{18}$ [4].

Lemma 2.4. *If $2n$ can be expressed as the sum of two primes for all $4 \leq 2n \leq 2N$, then $f(n) = n$ for all $n \leq N$.*

PROOF. Assume that $f(n) = n$ for all $n \leq M < N$. If $M + 1$ is factored into two relatively prime divisors, then, trivially, $f(M + 1) = M + 1$. If $M + 1$ is prime, then choose a prime $q \in \{3, 5\}$ satisfying $M + 1 + q \equiv 2 \pmod{4}$. Then

$$\begin{aligned} f(2^{k-1}(M + 1) + 2^{k-1}q) &= f(2^k) f\left(\frac{M + 1 + q}{2}\right) = 2^k \cdot \frac{M + 1 + q}{2} \\ &= f(2^{k-1}) f(M + 1) + f(2^{k-1}) f(q) \\ &= 2^{k-1} f(M + 1) + 2^{k-1} q, \end{aligned}$$

and thus $f(M + 1) = M + 1$.

It remains to consider the case when $M + 1$ is a power of some prime. If $M + 1$ is odd, then there exist primes p and q such that $2(M + 1) = p + q$ with $p < M + 1 < q$. Then

$$\begin{aligned} f(2^{k-1} \cdot 2(M + 1)) &= f(2^k) f(M + 1) = 2^k f(M + 1) \\ &= f(2^{k-1}(p + q)) = f(2^{k-1}p + 2^{k-1}q) \\ &= f(2^{k-1})f(p) + f(2^{k-1})f(q) = 2^{k-1}p + 2^{k-1}f(q). \end{aligned}$$

We need to show that $f(q) = q$. If we choose a prime $r \in \{3, 5, 7, 17\}$ such that $q + r \equiv 4 \pmod{8}$, then $f(q) = q$ follows from

$$\begin{aligned} f(2^{k-1}q + 2^{k-1}r) &= f(2^{k+1}) f\left(\frac{q + r}{4}\right) = 2^{k+1} \cdot \frac{q + r}{4} = 2^{k-1}q + 2^{k-1}r \\ &= f(2^{k-1}) f(q) + f(2^{k-1}) f(r) = 2^{k-1}f(q) + 2^{k-1}r, \end{aligned}$$

and thus $f(M + 1) = M + 1$.

If $M + 1$ is a power of 2, then we can find two primes p and q such that $M + 1 = p + q$ with $p < q < M$. If $p \neq 3$, then $f(M + 1) = M + 1$, from

$$\begin{aligned} f(3^{k-1}(M + 1)) &= f(3^{k-1})f(M + 1) = f(3^{k-1}p + 3^{k-1}q) \\ &= f(3^{k-1})f(p) + f(3^{k-1})f(q) = 3^{k-1}p + 3^{k-1}q = 3^{k-1}(M + 1), \end{aligned}$$

since $M + 1$ is not divisible by 3. If $p = 3$, then, by using 5, $f(5^{k-1}(M + 1))$ yields $f(M + 1) = M + 1$.

From the above results, we can conclude that $f(n) = n$ for every $n \leq N$. $\square$

The main theorem follows from the Goldbach Conjecture, but it is still unsolved. So we need to detour the infamous conjecture. Spiro devised a clever method. Here, the set H in the following lemma plays a crucial role.

Lemma 2.5 ([7, Lemma 5]). *For every prime $p > 10^{10}$, there is a prime $q < p$ such that $p + q \in H$, where*

$$H = \{n \mid v_p(n) \leq 1 \text{ if } p > 1000; v_p(n) \leq \lfloor 9 \log_p 10 \rfloor - 1 \text{ if } p < 1000\}.$$

The next step is to show that $f(n) = n$ for all $n \in H$. But, before proceeding, we need a lemma similar to Bertrand's postulate.

Lemma 2.6. *Let $\pi(x)$ be the number of primes $\leq x$. Then,*

$$\pi(x) - \pi\left(\frac{x}{2}\right) \geq 1, 2, 3, 4, \dots \text{ for all } x \geq 2, 11, 17, 29, \dots$$

PROOF. This generalization of Bertrand's postulate is due to RAMANUJAN [6]. $\square$

Lemma 2.7. *$f(n) = n$, for all $n \in H$.*

PROOF. If $n \leq 10^{10}$, then $f(n) = n$ by Lemma 2.4. Thus, we may assume that $n > 10^{10}$.

We use induction. Suppose that $f(m) = m$ for all $m < n$. If $n = ab$ is the product of two nontrivial relatively prime numbers, then $f(n) = f(a)f(b) = n$ by the induction hypothesis. If n is a prime power, then n itself is prime by the definition of H . In this case, there is a prime $q < n$ such that $n + q \in H$ by Lemma 2.5.

Now, let $n + q = 2^s t$, with $s \geq 1$ and t odd. It is clear that every divisor of an element in H is also in H . Since $2^s \in H$, we have $2^s < 10^{10}$ and $f(2^s) = 2^s$ by Lemma 2.4. Also, $f(t) = t$, since $t < n$.

If $p < n - 2$ is an odd prime, then

$$\begin{aligned} f(2^{k-2}p^2 + 2^{k-1}p) &= f(2^{k-2})f(p)f(p+2) = 2^{k-2}p(p+2) \\ &= f(2^{k-2})f(p^2) + f(2^{k-1})f(p) = 2^{k-2}f(p^2) + 2^{k-1}p \end{aligned}$$

gives $f(p^2) = p^2$. Similarly,

$$\begin{aligned} f(2^{k-3}p^3 + 2^{k-2}p^2) &= f(2^{k-3})f(p^2)f(p+2) = 2^{k-3}p^2(p+2) \\ &= f(2^{k-3})f(p^3) + f(2^{k-2})f(p^2) = 2^{k-3}f(p^3) + 2^{k-2}p^2 \end{aligned}$$

gives $f(p^3) = p^3$. Thus, inductively, we can deduce that $f(p^r) = p^r$ for $1 \leq r \leq k$.

If such p satisfies $(p, n+q) = (p, n) = (p, q) = 1$, then

$$\begin{aligned} f(p^{k-1}(n+q)) &= f(p^{k-1})f(n+q) = f(p^{k-1})f(2^s)f(t) = p^{k-1}(n+q) \\ &= f(p^{k-1})f(n) + f(p^{k-1})f(q) = p^{k-1}f(n) + p^{k-1}q, \end{aligned}$$

and thus $f(n) = n$.

By Bertrand's postulate, there exists a prime p such that $(n-2)/2 < p < n-2$. But, it may happen that $p = (n+q)/2$ or $p = q$. Lemma 2.6 guarantees that there are at least two more primes in the interval when $n-2 \geq 17$. So we can choose the required prime p .

This completes the proof. $\square$

Now, suppose that $f(n) \neq n$ for some positive integer n . Obviously, $n > 10^{10}$. We construct a set H_n for n as follows:

Lemma 2.8 ([7, Lemma 7]). *For a positive integer n , let*

$$\begin{aligned} H_n &= \{mn : m \in H, (m, n) = 1\} \text{ if } 2 \mid n; \\ H_n &= \{2mn : 2m \in H, (m, n) = 1\} \text{ if } 2 \nmid n. \end{aligned}$$

Then, every element of H_n is even, and the set H_n has positive lower density.

If an element, say h , in H_n can be expressed as a sum of two primes q_1 and q_2 , then $f(q_1) = q_1$ and $f(q_2) = q_2$ by Lemma 2.7, since H contains all primes. Thus,

$$\begin{aligned} f(p^{k-1}h) &= f(p^{k-1})f\left(\frac{h}{n}\right)f(n) = p^{k-1} \cdot \frac{h}{n} \cdot f(n) \\ &= f(p^{k-1}q_1 + p^{k-1}q_2) = f(p^{k-1})f(q_1) + f(p^{k-1})f(q_2) \\ &= p^{k-1}q_1 + p^{k-1}q_2 = p^{k-1}h, \end{aligned}$$

where p is a prime chosen to satisfy $(p, q_1) = (p, q_2) = (p, q_1 + q_2) = 1$. The existence of such p is guaranteed by Lemma 2.6. The equality means $f(n) = n$, and we should, thus, conclude that no element in H_n can be expressed as a sum of two primes. But, this result contradicts the following lemma.

Lemma 2.9 ([7, Lemma 6]). *Almost every even positive integer is expressible as the sum of two primes.*

PROOF. See [3]. $\square$

From the above results, we can conclude that f is the identity function.

ACKNOWLEDGEMENTS. The author would like to thank the referees for their comments and advices.

References

- [1] P. V. CHUNG and B. M. PHONG, Additive uniqueness sets for multiplicative functions, *Publ. Math. Debrecen* **55** (1999), 237–243.
- [2] A. DUBICKAS and P. ŠARKA, On multiplicative functions which are additive on sums of primes, *Aequationes Math.* **86** (2013), 81–89.
- [3] T. ESTERMANN, On Goldbach’s problem: Proof that almost all even positive integers are sums of two primes, *Proc. London Math. Soc. (2)* **44** (1938), 307–314.
- [4] T. OLIVEIRA E SILVA, S. HERZOG and S. PARDI, Empirical verification of the even Goldbach conjecture and computation of prime gaps up to $4 \cdot 10^{18}$, *Math. Comp.* **83** (2014), 2033–2060.
- [5] The On-Line Encyclopedia of Integer Sequences, <http://oeis.org/A072966>.
- [6] S. RAMANUJAN, A proof of Bertrand’s postulate, *J. Indian Math. Soc.* **11** (1919), 181–182.
- [7] C. A. SPIRO, Additive uniqueness sets for arithmetic functions, *J. Number Theory* **42** (1992), 232–246.

POO-SUNG PARK
 DEPARTMENT OF MATHEMATICS EDUCATION
 KYUNGNAM UNIVERSITY
 CHANGWON, 51767
 REPUBLIC OF KOREA
E-mail: pspark@kyungnam.ac.kr

(Received December 2, 2016; revised July 13, 2017)